
AU-20 DDAU-20 YK

AU-20 DK

AU-20 YD

LEVEL SWITCH WITH ROD

		

      
      
      
      



       
       
         


      
       
         

















: AISI 304 SS (Opt. AISI316)
: AISI 316L
: -10 / +125 °C
: 400 VAC/DC
: 16 bar
: BSP or NPT Threaded 
(min 3/8" Threaded)

: 0.8 kg/m3
: N.O / N.C
: 60VA
: 1.0VA
: Horizontal or Vertical
: 2 x 0.25 mm2

: IP68 + EX-PROOF

Min. Density 
Contact Type 
Switch Capacity 
Switch Current 
Installation 
Cable Connection 
Protection Class

Advantages

• Precise level control
• Both open and closed contact
• Long service life
• Sealing
• Continuous control
• Corrosion resistance of fluid contact zones

Application Areas

• Shipbuilding Industry
• Waste / Fresh water tanks
• Food Industry
• Fuel Tanks
• Acid Tanks
• Condense Tanks
• Chemical / Petrochemical Tanks
• Automation Systems



AU-20 LEVEL SWITCH WITH ROD

AU-20 DD 3/8" THREADED CONNECTION

* For different sizes, connection, pressure and applications please consult our sales team.

B B

12

1

33

46
,5

3/
8'

'

86

 53 

B-B  (2 : 1)

AA 22
Altıköşe

AA 22
Altıköşe

AA 13
Altıköşe

4 5 6 7 10 1211 13

1

3

2

8 9 14

W1

W2
W3

W5

W4

14  KABLO
13 1  CONTA VİDASI AISI 304 604.100.601.010
12 1  SOMUN AISI 304 604.100.301.010
11 1  SİLİKON CONTA 604.020.802.010
10 1  GÖVDE VİDASI AISI 304 604.100.602.010
9 1  MAKARON
8 1  SWITCH GC3817 233.010.400.105
7 1  ŞAMANDIRA MAGNETİ 300 oxit 604.100.103.010
6 2  ŞAMANDIRA KEPİ AISI 316 L 604.100.102.011
5 1  ŞAMANDIRA BORUSU AISI 316 L 604.100.101.011
4 1  SEVİYE BORUSU AISI 304 12x1
3 1  SETUSKUR M4x6 226.020.100.040
2 1  TAPA AISI 304 604.100.901.011
1 1  KELEPÇE AISI 304 604.100.801.010

SIRA 
NO ADET PARÇA ADI MALZEME ÖLÇÜ RESİM NO AÇIKLAMA

KONTROL
ONAY

FİRMA RESİM NO: AĞIRLIK:
MALZEME ADET RESİM NO:

YAYIN NO:   2

AYVAZRİSİM TARİH İMZA
ÇİZEN

ÖLÇEK

>0.5
 <3

>3
<6

>6
<30

>30
<120

>120
<400

±0.1 ±0.2 ±0.3±0.1 ±0.5

AYVAZR

>2000
<4000

GENEL TOLERANS DIN 7168 ORTA

M.KAYA
E.ÖZKAN

AY
VA

Z-
C

AD
 / 

R
es

im
 Ü

ze
rin

de
n 

Ö
lç

ü 
Al

m
ay

ın
ız

.

08.09.2017

T.KÖKSAL

2:1
3/8 AU-20 DD SEVİYE KONTROL 
                     CİHAZI

>400
<1000

>1000
<2000

±0.8 ±1.2 ±2

1 2 3 4 5 6 7 8

A

B

C

D

E

F

704.950.000.100

B B

12

1

33

46
,5

3/
8'

'

86

 53 

B-B  (2 : 1)

AA 22
Altıköşe

AA 22
Altıköşe

AA 13
Altıköşe

4 5 6 7 10 1211 13

1

3

2

8 9 14

W1

W2
W3

W5

W4

14  KABLO
13 1  CONTA VİDASI AISI 304 604.100.601.010
12 1  SOMUN AISI 304 604.100.301.010
11 1  SİLİKON CONTA 604.020.802.010
10 1  GÖVDE VİDASI AISI 304 604.100.602.010
9 1  MAKARON
8 1  SWITCH GC3817 233.010.400.105
7 1  ŞAMANDIRA MAGNETİ 300 oxit 604.100.103.010
6 2  ŞAMANDIRA KEPİ AISI 316 L 604.100.102.011
5 1  ŞAMANDIRA BORUSU AISI 316 L 604.100.101.011
4 1  SEVİYE BORUSU AISI 304 12x1
3 1  SETUSKUR M4x6 226.020.100.040
2 1  TAPA AISI 304 604.100.901.011
1 1  KELEPÇE AISI 304 604.100.801.010

SIRA 
NO ADET PARÇA ADI MALZEME ÖLÇÜ RESİM NO AÇIKLAMA

KONTROL
ONAY

FİRMA RESİM NO: AĞIRLIK:
MALZEME ADET RESİM NO:

YAYIN NO:   2

AYVAZRİSİM TARİH İMZA
ÇİZEN

ÖLÇEK

>0.5
 <3

>3
<6

>6
<30

>30
<120

>120
<400

±0.1 ±0.2 ±0.3±0.1 ±0.5

AYVAZR

>2000
<4000

GENEL TOLERANS DIN 7168 ORTA

M.KAYA
E.ÖZKAN

AY
VA

Z-
C

AD
 / 

R
es

im
 Ü

ze
rin

de
n 

Ö
lç

ü 
Al

m
ay

ın
ız

.

08.09.2017

T.KÖKSAL

2:1
3/8 AU-20 DD SEVİYE KONTROL 
                     CİHAZI

>400
<1000

>1000
<2000

±0.8 ±1.2 ±2

1 2 3 4 5 6 7 8

A

B

C

D

E

F

704.950.000.100

No Part Name Material List

1 Clamp AISI 304
2 Stopper AISI 304
3 Stay Bolt

4 Level Pipe AISI 304

5 Float Pipe AISI 316L

6 Float Cap AISI 316L

7 Level Magnet 300 oxit

8 Switch GC3817

9 Tube

10 Body Screw AISI 304

11 Silicon Gasket

12 Nut AISI 304

13 Sealing Screw AISI 304

14 Cable



AU-20 LEVEL SWITCH WITH ROD

AU-20 YD 3/8" THREADED CONNECTION

* For different sizes, connection, pressure and applications please consult our sales team.

B B

46
,5

12

1

R46

89

43

3/8''

95

141

 53 

B-B

3

2

4567

10

11

12

13

 AA22
 Altıköşe 

 AA13
 Altıköşe 

 AA22
 Altıköşe 

1

89

?

W1

W2

W3

W5

W4

14  KABLO
13 1  CONTA VİDASI AISI 304 604.100.601.010
12 1  SOMUN AISI 304 604.100.301.010
11 1  SİLİKON CONTA 604.020.802.010
10 1  GÖVDE VİDASI AISI 304 604.100.602.010
9 1  MAKARON
8 1  SWITCH GC3817 233.010.400.105
7 1  ŞAMANDIRA MAGNETİ 300 oxit 604.100.103.010
6 2  ŞAMANDIRA KEPİ AISI 316 L 604.100.102.011
5 1  ŞAMANDIRA BORUSU AISI 316 L 604.100.101.011
4 1  SEVİYE BORUSU AISI 304 12x1
3 2  SETUSKUR M4x6 226.020.100.040
2 1  TAPA AISI 304 604.100.901.011
1 2  KELEPÇE AISI 304 604.100.801.010

SIRA 
NO ADET PARÇA ADI MALZEME ÖLÇÜ RESİM NO AÇIKLAMA

KONTROL
ONAY

FİRMA RESİM NO: AĞIRLIK:
MALZEME ADET RESİM NO:

YAYIN NO:   2

AYVAZRİSİM TARİH İMZA
ÇİZEN

ÖLÇEK

>0.5
 <3

>3
<6

>6
<30

>30
<120

>120
<400

±0.1 ±0.2 ±0.3±0.1 ±0.5

AYVAZR

>2000
<4000

GENEL TOLERANS DIN 7168 ORTA

M.KAYA
E.ÖZKAN

AY
VA

Z-
C

AD
 / 

R
es

im
 Ü

ze
rin

de
n 

Ö
lç

ü 
Al

m
ay

ın
ız

.

08.09.2017

T.KÖKSAL

2:1
3/8 AU-20 YD SEVİYE KONTROL

CİHAZI

>400
<1000

>1000
<2000

±0.8 ±1.2 ±2

1 2 3 4 5 6 7 8

A

B

C

D

E

F

704.950.000.102

B B

46
,5

12

1

R46

89

43

3/8''

95

141

 53 

B-B

3

2

4567

10

11

12

13

 AA22
 Altıköşe 

 AA13
 Altıköşe 

 AA22
 Altıköşe 

1

89

?

W1

W2

W3

W5

W4

14  KABLO
13 1  CONTA VİDASI AISI 304 604.100.601.010
12 1  SOMUN AISI 304 604.100.301.010
11 1  SİLİKON CONTA 604.020.802.010
10 1  GÖVDE VİDASI AISI 304 604.100.602.010
9 1  MAKARON
8 1  SWITCH GC3817 233.010.400.105
7 1  ŞAMANDIRA MAGNETİ 300 oxit 604.100.103.010
6 2  ŞAMANDIRA KEPİ AISI 316 L 604.100.102.011
5 1  ŞAMANDIRA BORUSU AISI 316 L 604.100.101.011
4 1  SEVİYE BORUSU AISI 304 12x1
3 2  SETUSKUR M4x6 226.020.100.040
2 1  TAPA AISI 304 604.100.901.011
1 2  KELEPÇE AISI 304 604.100.801.010

SIRA 
NO ADET PARÇA ADI MALZEME ÖLÇÜ RESİM NO AÇIKLAMA

KONTROL
ONAY

FİRMA RESİM NO: AĞIRLIK:
MALZEME ADET RESİM NO:

YAYIN NO:   2

AYVAZRİSİM TARİH İMZA
ÇİZEN

ÖLÇEK

>0.5
 <3

>3
<6

>6
<30

>30
<120

>120
<400

±0.1 ±0.2 ±0.3±0.1 ±0.5

AYVAZR

>2000
<4000

GENEL TOLERANS DIN 7168 ORTA

M.KAYA
E.ÖZKAN

AY
VA

Z-
C

AD
 / 

R
es

im
 Ü

ze
rin

de
n 

Ö
lç

ü 
Al

m
ay

ın
ız

.

08.09.2017

T.KÖKSAL

2:1
3/8 AU-20 YD SEVİYE KONTROL
                     CİHAZI

>400
<1000

>1000
<2000

±0.8 ±1.2 ±2

1 2 3 4 5 6 7 8

A

B

C

D

E

F

704.950.000.102

No Part Name Material List

1 Clamp AISI 304
2 Stopper AISI 304
3 Stay Bolt

4 Level Pipe AISI 304

5 Float Pipe AISI 316L

6 Float Cap AISI 316L

7 Level Magnet 300 oxit

8 Switch GC3817

9 Tube

10 Body Screw AISI 304

11 Silicon Gasket

12 Nut AISI 304

13 Sealing Screw AISI 304

14 Cable



AU-20 LEVEL SWITCH WITH ROD

AU-20 DK 3/8" THREADED CONNECTION

* For different sizes, connection, pressure and applications please consult our sales team.

D D

54

12

1

33

3/
8'

'

86

51
 

 53 

D-D  (2 : 1)

 AA 22
 Altıköşe

 AA 22
 Altıköşe

AA 13
Altıköşe

3

2

1

4 5 6 7 10 11 12 138 9 14

W1

W2W3

W4

W5

14  KABLO
13 1  CONTA VİDASI AISI 304 604.100.601.010
12 1  SOMUN AISI 304 604.100.301.010
11 1  SİLİKON CONTA 604.020.802.010
10 1  GÖVDE VİDASI AISI 304 604.100.602.010
9 1  MAKARON
8 1  SWITCH GC3817 233.010.400.105
7 1  ŞAMANDIRA MAGNETİ 300 oxit 604.100.103.010
6 2  ŞAMANDIRA KEPİ AISI 316 L 604.100.102.010
5 1  ŞAMANDIRA BORUSU AISI 316 L 604.100.101.010
4 1  SEVİYE BORUSU AISI 304 12x1
3 1  SETUSKUR M4x6 226.020.100.040
2 1  TAPA AISI 304 604.100.901.011
1 1  KELEPÇE AISI 304 604.100.801.010

SIRA 
NO ADET PARÇA ADI MALZEME ÖLÇÜ RESİM NO AÇIKLAMA

KONTROL
ONAY

FİRMA RESİM NO: AĞIRLIK:
MALZEME ADET RESİM NO:

YAYIN NO:   2

AYVAZRİSİM TARİH İMZA
ÇİZEN

ÖLÇEK

>0.5
 <3

>3
<6

>6
<30

>30
<120

>120
<400

±0.1 ±0.2 ±0.3±0.1 ±0.5

AYVAZR

>2000
<4000

GENEL TOLERANS DIN 7168 ORTA

M.KAYA
E.ÖZKAN

AY
VA

Z-
C

AD
 / 

R
es

im
 Ü

ze
rin

de
n 

Ö
lç

ü 
Al

m
ay

ın
ız

.

08.09.2017

T.KÖKSAL

2:1
3/8 AU-20 DK SEVİYE KONTROL
                     CİHAZI

>400
<1000

>1000
<2000

±0.8 ±1.2 ±2

1 2 3 4 5 6 7 8

A

B

C

D

E

F

704.950.000.101

D D

54

12

1

33

3/
8'

'

86

51
 

 53 

D-D  (2 : 1)

 AA 22
 Altıköşe

 AA 22
 Altıköşe

AA 13
Altıköşe

3

2

1

4 5 6 7 10 11 12 138 9 14

W1

W2W3

W4

W5

14  KABLO
13 1  CONTA VİDASI AISI 304 604.100.601.010
12 1  SOMUN AISI 304 604.100.301.010
11 1  SİLİKON CONTA 604.020.802.010
10 1  GÖVDE VİDASI AISI 304 604.100.602.010
9 1  MAKARON
8 1  SWITCH GC3817 233.010.400.105
7 1  ŞAMANDIRA MAGNETİ 300 oxit 604.100.103.010
6 2  ŞAMANDIRA KEPİ AISI 316 L 604.100.102.010
5 1  ŞAMANDIRA BORUSU AISI 316 L 604.100.101.010
4 1  SEVİYE BORUSU AISI 304 12x1
3 1  SETUSKUR M4x6 226.020.100.040
2 1  TAPA AISI 304 604.100.901.011
1 1  KELEPÇE AISI 304 604.100.801.010

SIRA 
NO ADET PARÇA ADI MALZEME ÖLÇÜ RESİM NO AÇIKLAMA

KONTROL
ONAY

FİRMA RESİM NO: AĞIRLIK:
MALZEME ADET RESİM NO:

YAYIN NO:   2

AYVAZRİSİM TARİH İMZA
ÇİZEN

ÖLÇEK

>0.5
 <3

>3
<6

>6
<30

>30
<120

>120
<400

±0.1 ±0.2 ±0.3±0.1 ±0.5

AYVAZR

>2000
<4000

GENEL TOLERANS DIN 7168 ORTA

M.KAYA
E.ÖZKAN

AY
VA

Z-
C

AD
 / 

R
es

im
 Ü

ze
rin

de
n 

Ö
lç

ü 
Al

m
ay

ın
ız

.

08.09.2017

T.KÖKSAL

2:1
3/8 AU-20 DK SEVİYE KONTROL
                     CİHAZI

>400
<1000

>1000
<2000

±0.8 ±1.2 ±2

1 2 3 4 5 6 7 8

A

B

C

D

E

F

704.950.000.101

No Part Name Material List

1 Clamp AISI 304
2 Stopper AISI 304
3 Stay Bolt

4 Level Pipe AISI 304

5 Float Pipe AISI 316L

6 Float Cap AISI 316L

7 Float Magnet 300 oxit

8 Switch GC3817

9 Tube

10 Body Screw AISI 304

11 Silicon Gasket

12 Nut AISI 304

13 Sealing Screw AISI 304

14 Cable



AU-20 LEVEL SWITCH WITH ROD

AU-20 YK 3/8" THREADED CONNECTION

* For different sizes, connection, pressure and applications please consult our sales team.

B B

12

1

R46

89

43

3/8''

95

141

51 

 53 

B-B

4567

10

11

12

13

 AA22
 Altıköşe 

 AA13
 Altıköşe 

 AA22
 Altıköşe 

1

2

3

89

14

W1

W2

W3

W4

W5

14  KABLO
13 1  CONTA VİDASI AISI 304 604.100.601.010
12 1  SOMUN AISI 304 604.100.301.010
11 1  SİLİKON CONTA 604.020.802.010
10 1  GÖVDE VİDASI AISI 304 604.100.602.010
9 1  MAKARON
8 1  SWITCH GC3817 233.010.400.105
7 1  ŞAMANDIRA MAGNETİ 300 oxit 604.100.103.010
6 2  ŞAMANDIRA KEPİ AISI 316 L 604.100.102.010
5 1  ŞAMANDIRA BORUSU AISI 316 L 604.100.101.010
4 1  SEVİYE BORUSU AISI 304 12x1
3 2  SETUSKUR M4x6 226.020.100.040
2 1  TAPA AISI 304 604.100.901.011
1 2  KELEPÇE AISI 304 604.100.801.010

SIRA 
NO ADET PARÇA ADI MALZEME ÖLÇÜ RESİM NO AÇIKLAMA

KONTROL
ONAY

FİRMA RESİM NO: AĞIRLIK:
MALZEME ADET RESİM NO:

YAYIN NO:   2

AYVAZRİSİM TARİH İMZA
ÇİZEN

ÖLÇEK

>0.5
 <3

>3
<6

>6
<30

>30
<120

>120
<400

±0.1 ±0.2 ±0.3±0.1 ±0.5

AYVAZR

>2000
<4000

GENEL TOLERANS DIN 7168 ORTA

M.KAYA
E.ÖZKAN

AY
VA

Z-
C

AD
 / 

R
es

im
 Ü

ze
rin

de
n 

Ö
lç

ü 
Al

m
ay

ın
ız

.

08.09.2017

T.KÖKSAL

2:1
3/8 AU-20 YK SEVİYE KONTROL

CİHAZI

>400
<1000

>1000
<2000

±0.8 ±1.2 ±2

1 2 3 4 5 6 7 8

A

B

C

D

E

F

704.950.000.103

B B

12

1

R46

89

43

3/8''

95

141

51 

 53 

B-B

4567

10

11

12

13

 AA22
 Altıköşe 

 AA13
 Altıköşe 

 AA22
 Altıköşe 

1

2

3

89

14

W1

W2

W3

W4

W5

14  KABLO
13 1  CONTA VİDASI AISI 304 604.100.601.010
12 1  SOMUN AISI 304 604.100.301.010
11 1  SİLİKON CONTA 604.020.802.010
10 1  GÖVDE VİDASI AISI 304 604.100.602.010
9 1  MAKARON
8 1  SWITCH GC3817 233.010.400.105
7 1  ŞAMANDIRA MAGNETİ 300 oxit 604.100.103.010
6 2  ŞAMANDIRA KEPİ AISI 316 L 604.100.102.010
5 1  ŞAMANDIRA BORUSU AISI 316 L 604.100.101.010
4 1  SEVİYE BORUSU AISI 304 12x1
3 2  SETUSKUR M4x6 226.020.100.040
2 1  TAPA AISI 304 604.100.901.011
1 2  KELEPÇE AISI 304 604.100.801.010

SIRA 
NO ADET PARÇA ADI MALZEME ÖLÇÜ RESİM NO AÇIKLAMA

KONTROL
ONAY

FİRMA RESİM NO: AĞIRLIK:
MALZEME ADET RESİM NO:

YAYIN NO:   2

AYVAZRİSİM TARİH İMZA
ÇİZEN

ÖLÇEK

>0.5
 <3

>3
<6

>6
<30

>30
<120

>120
<400

±0.1 ±0.2 ±0.3±0.1 ±0.5

AYVAZR

>2000
<4000

GENEL TOLERANS DIN 7168 ORTA

M.KAYA
E.ÖZKAN

AY
VA

Z-
C

AD
 / 

R
es

im
 Ü

ze
rin

de
n 

Ö
lç

ü 
Al

m
ay

ın
ız

.

08.09.2017

T.KÖKSAL

2:1
3/8 AU-20 YK SEVİYE KONTROL
                    CİHAZI

>400
<1000

>1000
<2000

±0.8 ±1.2 ±2

1 2 3 4 5 6 7 8

A

B

C

D

E

F

704.950.000.103

No Part Name Material List

1 Clamp AISI 304
2 Stopper AISI 304
3 Stay Bolt

4 Level Pipe AISI 304

5 Float Pipe AISI 316L

6 Float Cap AISI 316L

7 Level Magnet 300 oxit

8 Switch GC3817

9 Tube

10 Body Screw AISI 304

11 Silicon Gasket

12 Nut AISI 304

13 Sealing Screw AISI 304

14 Cable



AU-20 LEVEL SWITCH WITH ROD

AU-20ELECTRICAL CONNECTION DIAGRAM

COM

NC NO

1. CONTACT

DIMENSIONS

AU-20 (Threaded)
BSP or NPT

Lenght (mm)

3/8” and above Valid for measurement between 
100 and 3000.

You are required to inform sales team 
during the order

1. Length of the probe (L)
2. Number of desired contacts

and locations
3. Fluid type (Oil, fuel, water)
4. Fluid temperature

20
18

 -
 N

o
n

 c
o

n
tr

a
ct

u
a

l d
o

cu
m

e
n

t 
- 

R
e

p
ro

d
u

ct
io

n
 f

o
rb

id
d

e
n

 w
it

h
o

u
t 

p
ri

o
r 

a
u

th
o

ri
za

ti
o

n

HEAD OFFICE - FACTORY
Atatürk Sanayi Bölgesi Hadımköy Mahallesi Mustafa İnan Caddesi No: 44 Arnavutköy - İSTANBUL
Tel: +90 212 771 01 45 (pbx)  |  Fax: +90 212 771 47 27
info@ayvaz.com  |  www.ayvaz.com

Ayvaz Gulf
Dubai/U.A.E
Tel: +971 563550822 

+971 501306871
mideast@ayvaz.com 

Ayvaz China 
Ningbo/China
Tel: +86 152 5830 7361 
msahin@ayvaz.com

Ayvaz Kazakhstan LLP 
Almaty/Kazakhstan
Tel: +7 (727) 327 97 57 
info_kz@ayvaz.com 

Ayvaz N
Isperih/Bulgaria
Tel: +359 8431 27 32 
o  ffi ce@ayvaz-n.eu

Ayvaz Serbia
Belgrade/Serbia
Tel: +381 61 658 70 52
yakbiyik@ayvaz.com

Ayvaz Vietnam
HCMC/Vietnam
ggursoy@ayvaz.com 
Tel: +84 89 8508345

Cona
Caserta/Italy
Tel: +39 0823 187 3988
rmolaro@ayvaz.com 

Ayvaz Germany
Viernheim/Germany
Tel: +49 62046014399
germany@ayvaz.com 

Ayvaz Ukraine
Kiev/Ukraine 
Tel: +380 44 390 57 57  
info@ayvaz.com.ua 

Tricorr
Warsaw/Poland
Tel: +48 530 030 810

 +48 533 603 335
tricorr@tricorr.eu

Ayvaz Azerbaijan 
Baku/Azerbaijan 
Tel: +99 (455) 579-84-32 
ahayatov@ayvaz.com

Ayvaz Egypt
Cairo/Egypt 
Tel: +20 122 819 78 29 
andrew.eid@ayvaz.com

Ayvaz Americas
Rhode Island/USA
Tel: +1 401 737 8380 
americas@ayvaz.com 




